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A FAUEF S Ak o = =

(EH& 1) NaOH(s) + HCI(aq) —NaCl(aq) + H,0(¢) AH,
AN =ML EES HA S0 20 NaOH =84 = B=1,
T8 Lo B F3tA|ZICH
(BtS 2) NaOH(s) + H,0(2) »NaOH(aq) + H,0(4) AH;
(8t 3) NaOH(aq) + HCl(aq) —NaCl(aq) + H,0(¢) AHg
Hed S 2tz AH, , AH:QF AHsCE EE27|2 SHH
sl 20] W

Klof| 2t AHs = AHs + AHeQ| ZHA|7F M 2I=IC}




3.9 4 Alek

Q7+ Q A
250m@ A2 E A3 0.25M HCI
100me H|#H 0.5M NaOH
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B. AH;9| &4

0.25 M HCI 29 CHAl S22 100m0 AFR3}0] AE A HIE
C. AH«O =X
Al o 4ZEA30| O AW EELE 4 FAH& S8ttt

@ MZHEZ2IAT0| 05 M HA 8 50mE Y1 2E5H. 05 M
NaOH & 50me £ #5510 25 5%8.

® 500meH|FH0| MZEeATE @10 SO 2 KR2L}
@ 0.5 M NaOH 22 50m¢S 0.5 M HCl 80| S0{Q|= Atzt=atA
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5. 4% A & AAAA

il g wko] C(J/°C.g)Q] B4 Wge] £%7F AT(C)WHE
Hgl S o SYs 4o & Q)=

Q=C(J/°C-g) xw(g) x AT(°C) 0| C}

= (418 W, +0.85W, ) AT
ol HztEataT ol 2

225 418)/°C - g 1t 0.85)/°C - g £ 71H)
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NaOH(s) + HCl(ag) NaCl(aq) + H, Of) AH,
NaOH(s) + H. O(f) NaOH(aqgq) + H, O(f) AHs
NaOH(aq) + HCl(ag)NaCl(aq) + H, O(f) AHg
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D=2+

AH; = AHs+ AHg
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